Factorising Harder Quadratics (ax? + bx + ¢)

Quadratic axc itg)ggii\:’eec;’c =il ttI;?‘nTiddle Group and Factorise I:;:;g:i;?:
2x*+7x+6 | 12 +4,+3 2x*+4x+3x+6 2x(x+2)+3(x+2) | 2x+3)(x+2)
3x2+19x+6 | 18 +18,+1 3x2+18x+x+6 3x(x +6)+1(x+6) | Bx+1)(x+6)
8x>+6x—9 | =72 +12,—-6 8x2+12x—6x—9 |4x(2x+3)—32x+3)| (4x —3)(2x + 3)
5x%2+12x—9 | —45 +15,-3 5x%+ 15x —3x —9 S5x(x+3)—3(x+3) | (5x—3)(x+3)
9x%2 —9x — 10 | —90 —15,+6 9x2 —15x + 6x — 10 |3x(3x—5)+2(Bx—5) | (3x +2)(3x —5)

6x>+x—5 | —30 +6,—5 6x? + 6x —5x — 5 6x(x+1)—5x+1) | (x—5(x+1)
8x2—18x+7 | +56 —14,—4 8x? —14x —4x+7 |2x(4x—7)—1(4x—7) | 2x — 1)(4x —7)
4x% —12x+5 | +20 —10,-2 4x% —10x —2x+5 |2x(2x—5)—1(2x—5) | (2x —1)(2x — 5)
6x%+17x+5 | +30 +15,+2 6x2+15x+2x+5 |3x(2x+5)+12x+5)| Bx+1)(2x +5)

12x% + 7x — 10 | —120 —8,+15 12x% —8x + 15x — 10 | 4x(3x —2) + 5(B3x — 2) | (4x + 5)(3x — 2)
10x% —3x — 4 | —40 +5,—-8 10x? +5x—8x—4 |5x(2x+1)—4Q2x+1) | Gx—4)(2x+ 1)




